Attachment 2

Arkansas Individual Income Tax Liability

Examples of Tax Due at Selected Income Levels

As of June 22, 2018

*The Following scenarios are based on a one wage earner married couple with no dependents and claiming the standard deduction.

Tax Year Net Tax Tax Year Net Tax Tax Year Net Tax
2017 Option A | Savings | 2017 Option B | Savings 2017 6% Plan Savings
$7,500 Net Taxable Income
Adjusted Gross Income 11,900 11,900 11,900 11,900 11,900 11,900
Standard Deduction (4,400) (4,400) (4,400) (4,400) (4,400) (4,400)
Net Taxable Income . 7,500 7,500 7,500 750010 7,500 | 7.500
Total Tax Before Credits 115 64 551 15| 116 ($1) 115 115 $0
Effective Tax Rate 0.97% 0.54% 0.97% 0.97% 0.97% 0.97%
$10,000 Net Taxable Income
Adjusted Gross Income 14,400 14,400 14,400 14,400 14,400 14,400
Standard Deduction (4,400)]  (4,400) (4,400)) (4,400 (4,400)  (4,400)
Net Taxable Income 10,000 10,000 10,000 10,000 10,000 10,000
Total Tax Before Credits 189 130 $59 189 192 (53) 189 189 50
Effective Tax Rate 1.31% 0.80% 1.31% 1.33% 1.31% 1‘31%5
$18,000 Net Taxable Income
Adjusted Gross Income 22,400 22,400 22,400 22,400 22,400 22,400
Standard Deduction (4,400) (4,400) (4,400) (4,400) (4,400) (4,400)
Net Taxable Income 18,000 18,000 18,000 18,000 18,000 18,000
Total Tax Before Credits 510 392 5118 510 518 ($8) 510 510 S0

Effective Tax Rate 2.28% 1.75% 2.28% 2.31% 2.28% 2.28%
$30,000 Net Taxable Income

Adjusted Gross Income 34,400 | 34,400 34,400 | 34,400 34,400 | 34,400

Standard Deduction (4,400)]  (4,400) (4.400),  (4,400) (4,400)  (3,300) |
INetTaxableincome | 30,000 30,000 30,000 | 30,000 3000/ 30000
Total Tax Before Credits 1,106 944 $162 1,106 1,100 46 1,106 | 1,106 . S0

Effective Tax Rate 3.22% 2.74% 3.22% 3.20% 3.22% 3.22%
$50,000 Net Taxable Income

Adjusted Gross Income 54,400 54,400 54,400 54,400 54,400 5&’-‘-00 =l
Standard Deduction (4,400) (4,400) (4,400) {4,400} {4,400) (4,400)

Net Taxable Income 50,000 50,000 50,000 50,000 50,000 50,000

Total Tax Before Credits 2,243 2,093 $150 2,243 2,249 ($6) 2,243 2,243 S0

Effective Tax Rate 4.12% 3.85% 4.12% 4.13% 4.12% 4.12%
$90,000 Net Taxable Income

_ﬁ,S_l 50,000 Net Taxable Income

154,400

Adjusted Gross Income 94,400 94,400 94,400 94,400 94,400 94,400

Standard Deduction (4,400) (4,400) (4,400) (4,400) (4,400) (4,400)

Net Taxable Income 90,000 90,000 90,000 90,000 90,000 90,000
5,266 4786 | 8480
5.58% 5.07%

Adjusted Gross Income 154,000 | 154400 154000 154400
st educti {4,400 (s400 | (4,400)  (4,400) % (4.400)

Net Taxable Income | 1so,000 0 150,000 | 150,000 | 150,000 | 150,000 | 150,000 i
Total Tax Before Credits 9,406 8443 |  $963 9,406 8599 | %807 9,406 5,386 | $1,020
Effective Tax Rate 6.09% 5.48% 6.09%  5.58% 6.09%]  5.43%
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Nicole Kaeding, Tax Foundation

First, I think it makes a great deal of sense to combine all of the rate schedules into one, which both A
and B do well. I've made that point multiple times before the task force, and I'm glad to see it getting
some serious consideration.

We ran both sets of brackets through our State Business Tax Climate Index.

Plan A: Moves AR from 39" to 37", with individual income going from 30" to 28'. (Additional reforms
would also increase the ranking.)

Plan B: Moves AR from 39" to 37", with individual income going from 30 to 29",

This type of rate schedule, in particular, helps moves AR'’s ranking quickly, because you've eliminated
the inherent benefit recapture to the tax code. Only a few other states have a benefit recapture
provision, so you're penalized a great deal for it. (My modeling last week did not include removing the
benefit recapture, since it wasn’t clear if the task force would move to eliminate the multiple rate
schedules. Adopting either of those would result in large gains than the final results | gave last week.)

Obviously, the big tradeoff between the two is the revenue associated, particularly due to the 2017
changes (effective 2019). If the task force decided to go with Plan B, due to revenue concerns, there are
a few ways to hold individuals harmless. Adding an EITC would help here. (Expanding the standard
deduction is another option, but it'd be much more expensive.) You could also use another phasein or
tax trigger here too. Could make sense to use the trigger to first lower the bottom brackets back to the
2017/2019 changes, and then lower the top rate from 6.5 to 6.0 percent.

But the other option is to actually perhaps to use Plan A, but decrease that top bracket from $80,000 to
something a bit lower, like $65,000 or $75,000. Because of the lower rates all the way down the
spectrum, including a 6.5 percent rate at the top, high income folks are still getting a net tax cut.
Generally, | want to minimize brackets, but | think it’s also important that the task force not spend 5195
million of its $200 million just on individual income tax cuts.

I did a couple quick calculations using Plan A with a $65,000 tax bracket, instead of an $80,000 tax
bracket.

$100,000 in taxable income

Savings per
Current Law Modified Plan A Bracket

0-4299 0.90% $38.69 0-4299 0.0% $0.00 $38.69

4300-8399 2.50% $102.48 4300-8399 2.0% $81.98 $20.50
8400-

8400-12599  3.00% $125.97 12599 3.0% $125.97 S-00
12600-

12600-20999 4.50% $377.96 20999 3.4% $285.57 $92.39
21000-

21000-35099 6.00% $845.94 35099 5.0% $704.95 $140.99
35100-

35100+ 6.90%  $4,478.10 65000 6.0% $1,800.00 $2,678.10
65000+ 6.5% $2,275.00 $(2,275.00)

$5,969.13 $5,273.47 $695.67



$200,000 in taxable income

Current Law
0-4299 0.90% $38.69
4300-8399 2.50% $102.48

8400-12599  3.00% 512597
12600-20999 4.50% $377.96
21000-35099 6.00% $845.94

35100+ 6.90% $11,378.10
$12,869.13

$75,001 in taxable income

Current Law
0-4299 0.90% $38.69
4300-8399 2.50% $102.48

8400-12599  3.00% $125.97
12600-20999 4.50% $377.96
21000-35099 6.00% $845.94

35100+ 6.90% 52,753.17

$4,244.20

Nicole Kaeding, Tax Foundation

Modified Plan A

0-4299 0.0% $0.00

4300-8399 2.0% $81.98

8400-

12599 3.0% $125.97

12600-

20999 3.4% $285.57

21000-

35099 5.0% $704.95

35100-

65000 6.0%  $1,800.00

65000+ 6.5%  $8,775.00
$11,773.47

Modified Plan A

0-4299 0.0% $0.00

4300-8399 2.0% $81.98

8400-

12599 3.0% $125.97

12600-

20999 3.4% $285.57

21000-

35099 5.0% $704.95

35100-

65000 6.0%  $1,800.00

65000+ 6.5% $650.07
$3,648.53

Savings per
Bracket
$38.69
$20.50

$-00
$92.39
$140.99

$9,578.10
$(8,775.00)
$1,095.67

Savings per
Bracket
$38.69
$20.50

$-00
$92.39
$140.99

$953.17
$(650.07)
$595.67
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